:(100) A2 & =2 g (170) =S+ Mg (173)EISI HAE EX S 2 (&9 &)
2t =
Olatel | MEC oAt HlWSZ &t = Pl =
2
= 11,120,960 13,187,820 | 22,066,860
==Y 11,120,960 13,187,820 | 22,066,860
3
[ HALEEZ =L 10,620,960 12,457,820 | 21,836,860
173-01
=102x3+4 9,933,000 9,688,000 245,000| O 212X 3
oA ot=2H Bl SA 1,029,000,000& = 1,029,000
SFAl F=Hot=2 HEHI ALY 1,264,000,000& = 1,264,000
09 S ==Al of=2t)1 BTL SU= 4,776,000,000& = 4,776,000
108 H==Al ot==2t01 BTL U= 2,864,000,000& = 2,864,000
173-02
Elsl HAEEXES Y 687,960 2,769,820 | ~A2,081,860| OLBBHELZ oSt 20F FDEAL0N TE AHIRE=R
- AFAIFY ol=2 1 E 1,806,000,000& X 21.0/100 = 379,260
- &2 X St=2 1 ZHI 1,470,000,000& X 21.0/100 = 308,700
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